Fill in this information to identify the case:					
Debtor	Proterra Inc				
United States Ba	ankruptcy Court for the:	District of Delaware (State)			
Case number	23-11120	_			

Official Form 410

Proof of Claim 04/22

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies or any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. **Do not send original documents;** they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

P	Identify the Clair	m						
1.	Who is the current creditor?	Alexander John Zuniga Name of the current creditor (the person or entity to be paid for this claim) Other names the creditor used with the debtor						
2.	Has this claim been acquired from someone else?	✓ No Yes. From whom?						
3.	Where should notices and	Where should notices to the creditor be sent?	Where should payments to the creditor be sent? (if different)					
	payments to the creditor be sent?	Alexander John Zuniga 5004 Silas Ct NE						
	Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Albuquerque, New Mexico 87111, USA						
		Contact phone <u>5056996216</u>	Contact phone					
		Contact email ajzuniga505@gmail.com	Contact email					
		Uniform claim identifier for electronic payments in chapter 13 (if you use o	one):					
4.	Does this claim amend one already	☑ No						
	filed?	Yes. Claim number on court claims registry (if known)	Filed on					
5.	Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?						

Official Form 410 Proof of Claim

Part 2:	Give Information About the Claim as of the Date the Case Was File	d
GI G	One intermediate about the element of the bate the edge may	

6.	Do you have any number	☑ No					
	you use to identify the debtor?	Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:					
7.	How much is the claim?	\$ 6,125.80 Does this amount include interest or other charges? No					
		Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).					
8.	What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. 526 shares of common stock					
9.	Is all or part of the claim secured?	No					
10.	Is this claim based on a lease?	No Yes. Amount necessary to cure any default as of the date of the petition. \$					
11.	Is this claim subject to a right of setoff?	No Yes. Identify the property:					

Official Form 410 Proof of Claim

12. Is all or part of the claim	□ No		
entitled to priority under 11 U.S.C. § 507(a)?	_	es. Check all that apply:	Amount entitled to priority
A claim may be partly priority and partly		Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	e
nonpriority. For example, in some categories, the law limits the amount		Up to \$3,350* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$
entitled to priority.		Wages, salaries, or commissions (up to \$15,150*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4).	\$
	V	Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$ <u>6,125.80</u>
		Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
		Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$
	*	Amounts are subject to adjustment on 4/01/25 and every 3 years after that for cases begun	on or after the date of adjustment.
13. Is all or part of the claim pursuant to 11 U.S.C. § 503(b)(9)?	da	es. Indicate the amount of your claim arising from the value of any goods rece ys before the date of commencement of the above case, in which the goods e ordinary course of such Debtor's business. Attach documentation supporting	have been sold to the Debtor in
	\$_		
Part 3: Sign Below			
The person completing this proof of claim must sign and date it. FRBP 9011(b). If you file this claim electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is. A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.	I am I am I am I am I am I understa the amout I have exa I declare to Executed	MM / DD / YYYY kander John Zuniga	vard the debt. e information is true and correct.
	Contact pho	one Email	



Official Form 410 Proof of Claim

KCC ePOC Electronic Claim Filing Summary

For phone assistance: Domestic (888) 251-3076 | International (310) 751-2617

Debtor:	(656) 26 : 66 : 6	. ,				
23-11120 - Proterra Inc						
District:						
District of Delaware						
Creditor:	Has Supporting Docu	mentation:				
Alexander John Zuniga	Yes, supporting	documentation successfully uploaded				
5004 Silas Ct NE	atement:					
5004 Silas Ctine						
Albuquerque, New Mexico, 87111	Has Related Claim:					
USA	No					
Phone:	Related Claim Filed By	y:				
5056996216	Filing Party:					
Phone 2:	Creditor					
Fax:	0.00.10.					
Email:						
ajzuniga505@gmail.com						
Other Names Used with Debtor:	Amends Claim:	Amends Claim:				
	No	No				
	Acquired Claim:	Acquired Claim:				
	No					
Basis of Claim:	Last 4 Digits:	Uniform Claim Identifier:				
526 shares of common stock	No					
Total Amount of Claim:	Includes Interest or Cl	Includes Interest or Charges:				
6,125.80	No	-				
Has Priority Claim:	Priority Under:					
Yes	11 U.S.C. §507	(a)(8): 6,125.80				
Has Secured Claim:	Nature of Secured Am	ount:				
No	Value of Property:					
Amount of 503(b)(9):	Annual Interest Rate:	Annual Interest Rate:				
No	Arrogrago Amounti					
Based on Lease:	Arrearage Amount:					
No	Basis for Perfection:	Basis for Perfection:				
Subject to Right of Setoff: Amount Unsecured:						
No						
Submitted By:						
Alexander John Zuniga on 21-Oct-2023 9:29:33 p.m. E	Eastern Time					
Title:						
Financial Advisor						
Company:						
Merrill Lynch						



ALEXANDER J ZUNIGA Account Number:

YOUR CMA EQUITY COST BASIS

September 01, 2023 - September 29, 2023

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Gain/(Loss) Annual Income
<u> </u>		· ·					
PROTERRA INC	PTRAQ 01/28/21	15.0000	23.1900	347.85	0.0540	.81	(347.04)
	02/01/21	15.0000	25.8286	387.43	0.0540	.81	(386.62)
	02/03/21	6.0000	25.6600	153.96	0.0540	.32	(153.64)
	02/05/21	6.0000	24.7516	148.51	0.0540	.32	(148.19)
	02/12/21	12.0000	24.9083	298.90	0.0540	.65	(298.25)
	02/25/21	3.0000	22.1300	66.39	0.0540	.16	(66.23)
	02/25/21	3.0000	22.1000	66.30	0.0540	.16	(66.14)
	03/03/21	4.0000	19.5750	78.30	0.0540	.22	(78.08)
	03/04/21	18.0000	16.5877	298.58	0.0540	.97	(297.61)
	03/05/21	6.0000	14.3400	86.04	0.0540	.32	(85.72)
	03/08/21	6.0000	15.5650	93.39	0.0540	.32	(93.07)
	03/08/21	18.0000	16.5500	297.90	0.0540	.97	(296.93)
	05/07/21	30.0000	15.5996	467.99	0.0540	1.62	(466.37)
	05/12/21	18.0000	14.0700	253.26	0.0540	.97	(252.29)
	07/12/21	24.0000	14.2800	342.72	0.0540	1.30	(341.42)
	07/15/21	12.0000	12.0400	144.48	0.0540	.65	(143.83)
	10/06/21	12.0000	9.3200	111.84	0.0540	.65	(111.19)
	10/22/21	42.0000	9.3250	391.65	0.0540	2.27	(389.38)
	11/29/21	24.0000	11.2500	270.00	0.0540	1.30	(268.70)
	12/03/21	36.0000	9.5197	342.71	0.0540	1.94	(340.77)
	12/10/21	24.0000	9.2450	221.88	0.0540	1.30	(220.58)
	12/20/21	12.0000	8.3991	100.79	0.0540	.65	(100.14)
	01/24/22	24.0000	6.8995	165.59	0.0540	1.30	(164.29)
	03/02/22	18.0000	8.0450	144.81	0.0540	.97	(143.84)
	03/09/22	30.0000	7.6496	229.49	0.0540	1.62	(227.87)

24-Hour Assistance: (877) 653-4732Access Code: 39-796-95832

ALEXANDER J ZUNIGA

Account Number:

YOUR CMA EQUITY COST BASIS

September 01, 2023 - September 29, 2023

EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Gain/(Loss) Annual Income
PROTERRA INC	PTRAQ 04/01/22	30.0000	7.2250	216.75	0.0540	1.62	(215.13)
	10/05/22	18.0000	5.6050	100.89	0.0540	.97	(99.92)
	10/11/22	60.0000	4.9566	297.40	0.0540	3.24	(294.16)
Subtotal		526.0000		6,125.80		28.40	(6,097.40)